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Time Allowed : Three Hours . Maximum Marks : 250
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QUESTION PAPER SPEC{FI(__E INSTRUCTIONS
Y
(Please read each of the following instflictions carefully before attempting questions)

Wes W O

¢ -
There are EIGHT questions “dividcd“ in “two Scctions and printed both in HINDI and

in ENGLISH. \ﬁ‘«
Candidate hag*to ﬁtfﬁmpt, FIVE questions in all.

] > 4 X -
Qucs'nqx‘iﬁgl:‘\__l'\and S are compulsory and out of the remaining, THREE are to be
atﬁ‘:mpted(choosing at least ONE from each Section.

X w_J/ : . . . .
The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the
space provided. No marks will be given for answers written in a medium other than the
authorized one.

Word limit in questions, wherever specified, should be adhered to.

Graphs/illustrations, wherever required, may be drawn/given in the space provided for
answering the question itself,

Attempts of questions shall be counted in scquential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left,
blank in the Question-cum-Answer Booklet must be clearly struck off.
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WUs—A /| SECTION—A

1. fPaffes 2% ¥@ & I anm 150 7= 3 AR :
Answer the following questions in about 150 words each : 10%x5=50

(a) =men R B IR @ g7 I A H =i | g aul A= h wgen | &R Ruifa
el £

Explain how equilibrium rate of interest and income are determined with the
interaction of both product and money market.

(b) it HE YR ¥ st @ wreAs Rier $ sw-dead 3w # wk AR

Distinguish between post-Keynesian approaches to horizontalist and
structuralist theory of endogenous money supply.

(c) Tia ganm i § s A o i R s w50, e fifvn)

Explain how renewable resources will play a role in future economics.

[d) @ affRE ¥ g ute sfeafd § fiew ® e Al R-Fafka ek 3
giyan IfRE 3% F am 3R Tl arensd ) e At

Mention the classification of assets held by a commercial bank. Discuss lhc
problems faced by commercial bank due to rise in NPAs. “

fe) fawm foera & w0 A figla & v wriars R 6 e B Z
Explain Myrdal's cumulative causation theory as thcomco& fur@jvqlopmcnt.

2 G\

2. {a) mﬁa:ﬁmwﬂmthzﬁwﬁﬁmﬁ W%@mmmmmﬁw

g %1 (\kﬁ

What is CDPJBCMN'%H&HDH?\SI'IDW how some models of oligopoly are derived

on the basigiof t‘j’}' 15

s . _
12@@&; W 7w P T A e MR e At B

Show that systematic monetary and fiscal policies are ineffective in controlling

output and price level. 15

fc) (i) s wifa ) erla w0 A ¥7 w0 o wen § R PR @ i-sfe’ g
¥

(i) i ff 7% aR W afis wva @ 9w R, Do @0 o whfw shaa-won)

(i) What makes technical progress endogenous? Do you think that
technology is a ‘non-rival’ good?

(i) Show that if the research becomes more successful, the growth rate

will increase and hence the standard of living, 20
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3. (o) WA iR % T wm R W ardl B ¢ @ C,, M g >y, T D Wl
TR & §1 78 TR 9¥ e v {7 9 yhend wgen A fia v R 37

Suppose that we have only two firms in the market with constant marginal
costs of C; and C, respectively such that C, >C,. What is the Bertrand
equilibrium in this market? How is it different from the competitive

equilibrium? . 8+7=15

(b) "zﬂamﬁﬂa&azﬂaqﬁmm*’wmm%?ﬁaimaﬁm#mﬂﬁammﬁ
IW F wWe hifdw)

“Ev:cn green energy is not always green.” Do you agree? Illustrate your answer
taking biofuels as an example.

(c) vl OF srdegawn #§ Prefifea =i w ated Ru g & -
w&E =@ = 300
Frifsm 3w = 200
1= ffa = 50
HHA &H = 250

15

IR A = 0-1 Y \“
W 3 wef = 05 \

. % O\ ¢
() ¥ W (Y) 1500 ¥ woem ¥, 39w {cyceooﬁqﬁc@m@n%ﬁa )
e “
(i) A sheei—sismen § ma‘ﬁaﬁmﬁ sl § Ry frfn wge

LD, - \
(F: Yy, aYy,) ﬁmﬁq{:

T \ ey
(i) %w@$wvbﬁmmmmﬁm%m@mmW
f\@iﬁﬁ‘sﬂaﬁ&ﬁﬂﬁmm%wmqéﬁmﬁmmml

'@
(’ @ lnﬁmfr’onomﬁﬁ,m=mmqéﬁozouo%amm]

You are given the data on the following variables in an economy :

Government spending = 300
Planned investment = 200
Net exports = 50
Autonomous taxes = 250
Income-tax rate = 0-1

Marginal propensity to consume = 0-5
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i) Consumption (C) is 600, when income (Y) is equal to 1500. Solve for
autonomous consumption.

fii) Solve for the equilibrium levels of output denoted (respectively by Y,
and Y,,) in the two scenarios—presence and absence of income tax in
the economy.

fiij Solve for the change in net exports that would bring the equilibrium
output level in the economy with the income tax to the level of Y,

that you found in (if). Specify both the magnitude and sign of the
change.

[ Figures are in ¥ '000 crore, obviously except tax rate and MPC| 20

4. (a) 3 W A Fo Frafa st N il wemm (wERA) wE w@ ) @ Roe g
Frafa sl & Prafafen ot 9w +3 $ g oof sReul % swofa @ wifis wgem
wizgd ® IE@m Hifd

() & Frafa v F Feomh e
(i) wefh @ FF-m 9 ava i Da-w e @ w R

O

Many countries subsidize some of their export industries. Use a parua.l

equilibrium model under perfect competition to ulueratg, the bﬁhg cﬂ'ccts
of an export subsidy for a large cnuntry 6

() Welfare effects of an export submdy D

(i) Which group is wmning@d wh;ch is losmg from the subsidy? 8+7=15

we\ “

(b) nﬂym dunam o P =3 g ek ¥ Rew Rara @ Wi § s
( f@%{h@a h#m(nha}ﬁwx@ﬂﬁmﬁmﬂ&m.

Briefly state the Kaldor's theory of distribution in determining the share of

profit and the share of wages in national income. Explain the mechanism
behind Kaldor’s model. 15

(c) uzﬁh%ﬁfﬁqﬁ:mﬁmﬁﬁ&muimﬁmﬁmmnﬁm&amhq&ﬁmﬁﬁ
A & s R

Show how the idea of monopolistic competition becomes intrinsic to the
endogenous growth theory as postulated by Romer. 20
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WUE—B / SECTION—B

5. P=fafes @ va =1 s anm 150 w==i % difeme -

Answer the following questions in about 150 words each : 10x5=50

(a) @ﬁvhaﬁmmaﬂwza@ﬂﬁmfﬁﬁmwmﬁmmm
=R
State Arrow’s five reasonable conditions which a social welfare function must
satisfy.

{b) mﬁumﬁm%mﬁm&mmm-ﬁ%ﬁﬁaWﬂmﬁ%ﬂ
Hifs)

In the context of international trade theory, discuss in detail the various stages
of the international product life cycle.

(c) mﬁﬂumm?ﬂmﬁaﬁm%mmmﬂﬁ&wml

Discuss the issue of compatibility between international trade and
environment sustainability.

(d) @ﬁﬂﬂaaﬁ@%nﬂﬂmmw%ﬁmmﬁwﬂm%
ftrh ot #7319 IR ¥ v F Fw0 wegw A . \(X
re

In the context of a developing economy, do you think that ﬁscal{_.policy isi\mo

effective than monetary policy? Give reasons inosupjhort (nﬁ_';bm:f a.ngwcr?

(e) ﬁh%ymmﬁmﬁﬁmﬁmﬁ*-ﬁaﬁwm@“ \\aﬂ?ﬂ },)atrr@niﬁﬁm

—
Explain how public-private P ci'sl'?ip helps “in the rapid economic
development of a country \: “ !

T\C
6. (a) @atiamznﬁﬁ“ﬁt:\*: > o W a2 s w0 wr s )
e g
A L B e
f\@lwﬂ?\w\kﬂagﬁﬁmwwﬁwﬁﬂmﬁﬁm%,mﬁm%wmmw
@ prickakcn B Y

(ii) mmﬁmﬁﬁﬂﬂ&a%mwmﬁﬁmﬁmammtl
mmmﬁmmam%mwmmmmm

In an economy, the government is trying to boost the local economy by a
massive advertisement ‘buy local—local is best’.

() Assuming that the public tend to be persuaded by the campaign,
what effect might this have on the economy’s multiplier?

(i) Critica_: argue that this is unfair and leads to distortions in free trade.
Examine how the economy performs here under flexible exchange rate

system. Byl
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(b) i\ﬁa#'q'ﬁéﬂm%mmmﬁ%?ﬂﬁﬁ%‘q’ﬁm@ﬁiﬁmm&mmﬂ
a9 A Ffg ofaffa w07

What do you mean by Tobin’s ‘q’ theory of investment? How would you modify
the standard IS-LM functions in the presence of Tobin’s ‘q? 15

(c) e fifm 5 Braad) s g wln, sReh semm atew # 5 gia @ wdh
dimait 7§ i)

Explain how Keynesian speculative demand for money is restated in regressive
expectation model. Point out its limitations. 20

7. (o) wneifim wm el ATl T e # Rew & gie alea 7 R Al 70 gie w e
Tega: $0l-3f@ ¥7 FR9 TR

Describe Lewis model of development in an economy with unlimited supply of
labour. Is Lewis model really capital-driven? Give reasons. B8+7=15

(b) =T i B snfifs spoeedem B e § e e SR TrE § o W R

I9G I A e Rifng|

Explain how trade blocks are important in the process of CCOHO:I'I'I.IC

globalization. Illustrate your answer with suitable examples. \l@\
) AWl @R werl C, =qf, C, =2g3 T WRe™ W =it Fer ﬁ-wo\ﬂ[q, qﬂwﬂ¥

wredt Frfdl 1 sees = &1 wefifa D B 40, #ﬂﬁmw'ﬂn‘ﬁ‘a

mﬁmﬁmmmtlmzﬁm&m &4
Two firms produce homogcn&ous ou{p&tswwth:cost functions C, = q, ,Co = 2q2

and the inverse market dc#:'na.nd function P =100 -(g, +q5). Show that at the
Coumnt-Nash cwtlnbnum@rm 2 makes higher profit than at the joint profit
ma:ummng cqu:hbnum Explain why this is so. 20

AV QA

\( ﬁﬁMM%WWWMMﬁMMﬂmmlym
F W@ mrie wrat f s fifm)

Explain the recent changes in the trade and investment flows among different
countries in the world. Discuss the major factors that led to these changes. 8+7=15

(b) Tl A awgadi, A swiemadl T @ I9ET TG TR AE Q) SNREH Gl AdeEaEn i, @
‘o’ sderEEn # W2 e ¥ naws Rufrl F) sgem Rt

In an economy with only two commeodities, two consumers and two producers

with single factor of production, derive the necessary conditions for Pareto

optimality in a ‘perfect’ economy. 15
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Discuss different forms of subsidies. Explain how perverse subsidies are

detrimental to the economy and environment in the long run.

* %k

s o0y
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